Multiple Choice Questions

1. A lack of community is linked to feelings of: 
a. Joy 
b. Loneliness
c. Anger 
d. Frustration 

2. The situational analysis done for the South African Plan of Action for Older Adults showed that: 
a. [bookmark: _Hlk30672102]Older adults in urban areas experience challenges with accessing healthcare 
b. Older adults in rural areas experience challenges with accessing social settings 
c. Older adults in rural areas experience challenges with accessing healthcare 
d. Older adults in urban areas experience challenges with accessing social settings
 
3. The study is a: 
a. Quantitative Cross-Sectional Descriptive Study
b. Qualitative Cross-sectional Descriptive Study
c. Mixed Methods Study
d. Retrospective Descriptive Study

4. The abbreviation I-CHaT stands for the following:
a. International Community Health and Transport 
b. Internet Criminal History Access Tool
c. Internet Expert Advisory Panel on Community Health and Transport 
d. International Expert Advisory Panel on Community Health and Transport

5. The three population groups that were part of the study were individuals from: 
a. [bookmark: _Hlk30674135]Innovation for the Blind, National Institute for the Deaf and the Worcester Community Day Clinic 
b. Stellenbosch University 
c. Worcester 
d. Undergraduate Research Ethics and Health Research Committee

6. [bookmark: _Hlk30673374]World Health Organization Disability Assessment Schedule 2.0 (WHODAS 2.0) has been standardised in: 
a. English and isiXhosa 
b. Afrikaans and isiXhosa
c. English, Afrikaans and isiXhosa 
d. English and Afrikaans 


7. The World Health Organization Disability Assessment Schedule 2.0 (WHODAS 2.0) is used to: 
a. Assess for difficulties experienced within the past month as a result of disability
b. Assess for hearing difficulties experienced in the past month
c. Assess for physical disability experienced in the past month 
d. Assess any disability experienced in the past two months

8. The most frequently used modes of transport were:
a. Walking 
b. Family Members 
c. Minibus taxi 
d. Own vehicle 

9. The three most frequently used modes of transport in this study were:
a. Institution Transport Walking and Minibus taxis 
b. Own vehicle, Institutional Transport and Walking 
c. Walking, family members and own vehicle 
d. Family members, Institution Transport and Walking

10. Most walkers came from the: 
a. Innovation for the Blind, National Institute for the Deaf and the Worcester Community Day Clinic 
b. Innovation for the Blind and the Worcester Community Clinic
c. Innovation for the Blind and National Institute for the Deaf 
d. National Institute for the Deaf 
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